
SIMPLIFYING RADICALS - RationaliziNg the DENOMINatoOR 

For a number to be in SIMPLEST RADICAL FORM, two requiremerts must be met 
The radicand must have no pertect square factors, Cubed tactos,
4m roots, etc. (except the factor ). 

2 There MUst be no radicals in the denominator. 

| Let's WRlte N SIMplest Radical foRM 

Mulhplyby tne derowinator over itself, derty Property of Mutiplcotion
2 

Moke sure to that al rodcals are smpified in 

he final answer.

SiImplest radical form is 2 

Let'ytru: Write the tolowing UMbers n SWMplest radcal form 
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V45 

O201Catherne Cup (InsnratendA=
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n 12 

2 20. 
V128 

o201 Catherine Cup (Tnsrational Algera)
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